4 3
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION 20 REVISIONS
(©) coprRIGHT 20 BY - AL RIGHTS RESERVED. P LR DESCRIPTION DATE DWN | APVD
B1 ECR-16-011988 26AUG2016 | YO | CW
5| C ECR-18-016778 12N0V2018 | GY  |CW
. — ™ (1 | ECR-18-017123 21DEC2018 |KW | CW
m%&‘}\% B ECR-21-106515 02JUL2021 | SQ@ |CW
ey
cO
& .
NOTES :
| TECHNICAL CHARACTERISTICS:
TYPE |,T2040062101-000,WITH LOGO INSULATION MATERIAL: PC
%4 |, T2040062101-000,%L0GO RATED VOLTAGE: 500V
RATED CURRENT: [6A
INSULATION RESISTANCE: >=400MQ)

M4 SCREW,RECOMMENDED
TIGHTENING TORQUE
MA4B% #AEGERE| . 2Nm

2)

(2

N
A\

‘4

36

N

i

|
l

: ]
E
I
|

L_ 44 _ i#d

W

e

PANEL CUT FOR [INSERTS FOR USE
WITHOUT HOODS/ HOUSINGS
e A7 4P sh A Bt X 2 5 T 3L

oX M3 SCREW,RECOMMENDED
TIGHTENING TORQUE 0. 5Nm

oX M3##£ ##8E#E0 . SNm

RATED IMPULSE VOLTAGE: 6KV
POLLUTION DEGREE: 3
FLAMMABIL ITY: UL94V-0
MATING CYCLES: 500 CYCLES

Aj { WIRE RANGE: O0.5mm2~2.5mm2 (AWG20-AWGI4)
. A CONTACT TYPE: SCREW CLAMP (M3)
T 1 ee9)
N ] ] B
N HDC-HE-G06M wuis . PC
= S gEsE: 500V
! Frwd: | 6A
gl >=400M()
s E: 6KV
EREg 3
4X M3 SCREW,RECOMMENDED EHgEgk: UL94V-0
TIGHTENING TORQUE O.5Nm wRxy . H00 %
4X M3z #E4%Z440  5Nm #4EE: 0. 5mm2~2.5mm2 (AWG20-AWG 1 4)
BYAR - BuUEE (M3)
@ 11
b A
A _ @\
~ RAA
o~ SN Y-Y.
99
v NP
\\ ] @iﬁé
- 44 _
THIS DRAWING IS A CONTROLLED DOCUMENT. |DWN 4APR20T5
CHEINO YAQ IAPR?20T5S () TE TE CON\@CMVHy
DIMENSIONS: OTTHOELREWRIASNECESSPEUCNILFEISESD- ApngRIS WANGAAPREO,‘S NAME
mm ' XTANG XU HE-006-M
0 PLC 4 - PRODUCT SPEC
@E}{::::}; e 108-137044
3 PLC =+ - APPLICATION SPEC
iNGPLLECS + - .. 1 1 47 1 37044 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
TERL e , A S[007T79C=T2040062101000 -
- - CUSTOMER DRAWING SR o5 "D

1470-19 (3/13)




